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x X 600 = 900 x 200 ©]c}.

5 x = 300(m)

wpeba] o] FHoflA mAoldl H7EA] o] A 7= 300 + 600 =
900(m) ©]c}.
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thg 133} 28 22447 ABC oA sinA =

® 4cm

@6 cm

® 8cm

OJI[\D

@ 9cm

o)1, BC 7} 4cm

® 12cm

BC_ 4 _2
AC AC 3
webA AC = 6em ©]tt.

sin A =

o]B & 12 =2xAC o]t}
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sin A = —= Q1 222 ABC oA cos A B
, tan A O] 32 ZH2F JEshA? (| 0° < A <
90° )

@ cosA—g, tanA =1 @) cosAz?, tan A = 2
® cosA =23, tanA =1 @ cosA =343, tanA:%
@cosA-?, tanA =1

SlnA—£—£ olB2 BC = ABXsmA—6><£=3\/§

AB 2 2
ojtt.
mefaratAs Falof] o5 AC = /62 - (3V2)2 = 3v2 °|t}
32 \/_ sinA 342
A === = — = —— = (©)
w2hA] cos A B 5 anA cosA 33 1 o|t}.
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BAHNA 2 em 2 AGAA Felol ohol, o] 1} 22 B ol
Fotofet,

i
o
=

v V.VvY
ox
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|
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(Bo] §u): (Co 1) =8:19 °o|B=&
(B9] 7)) : (AS] 7)) =8: (8+19)
=8:27
=23.33
oebA A 9 B & S2Hl= 3: 27} ok
SHONA xem 1 A A ARehH




o2 29 e AABC oA D, E, F, G = A
AB, AC 9] A5EH ot} AADF: 4 cm?
o off, oDEGF ¢} oEBCG 2] Hol& 747 D F
“Fatozt, G
B C
» & cm?
» & cm?
[> ®eh: oDEGF = 12 cm?
[> ®=H: gEBCG = 20 cm?

~&B ,

AADF 9} AAEG, AABC O] ©2H]=1:2: 30|11, Yol Hl&=
1:4:90]t}.

w2t AADF : oDEGF : cEBCG =1:3:5

. ODEGF = 12 (cm?),

oEBCG = 20 (cm?)




